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205,250,300.350,375, B [ 4 ‘ o |
400, 450,500, 550, 600, N4 maiing

650,700, 750, 800, 850,
900, 950, 1000, 1250
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(mm) (mm) (KQ) (%) (A) (M)
75 75 79.5 5 0.15 222 82.5
100 100 101 5 0.15 247 108
150 150 151 5 0.1 298 168
175 175 176.5 5 0.1 323 183.5
200 200 201.5 5 0.08 349 208.5
225 225 226.5 5 0.08 374 233.5
250 250 252 5 0.05 400 25¢)
300 300 302 5 0.05 451 309
350 350 362.5 5 0.05 501 369
375 375 377.5 5 0.05 526 384.5
400 400 403 5 0.05 S52 410
450 450 460 5 0.05 602 460
500 500 503.5 5 0.05 653 510.5
550 550 553.5 10 0.05 704 560.5
600 600 604 10 0.05 754 611
650 650 654 10 0.05 804 661
700 700 704.5 10 0.05 SOl 711.5
750 750 754.5 10 0.04 905 761.5
800 800 805 10 0.04 956 812
850 850 855.5 10 0.04 1006 862
900 900 $05.8 10 0.04 1057 912.5
950 950 9565.5 10 0.04 1107 962.5
1000 1000 1006 10 0.04 1158 1013
1250 1250 1259 20 0.04 1411 1266
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